_ LT —4 , FERLINZ / Components

WFI=ANT / Technical Datal No. 2 %R / Part name #E / Pcs #& / Material & - R / Color-Finish

#E{TkJLY / Recommended torque : 0.3N*m ~ 0.6N*m —F—Snvs ) LS4 A% AR ADC12 S LN— . Tl B (NEEILE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
IR 4 TILEIRHI# A6063S-T5 DW=, TSV TLIAMIITEE
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
HA— , 7 ILZ4R A1100P DIWIS— TS9P TILIAH
Top cover Aluminium A1100P Silver , Black*Anodized

% TH— : 7 ILZHR A1100P DIWIN— T39I T LIk

Bottom cover Aluminium A1100P Silver , Black*Anodized
TILZE 4 FILT & )ard L DIIN— TSV TILIA & TSVY
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
ER{HE X (IMM3 x 8) 1 % TV AYE
Screw (Flat head M3 - 8) Steel Nickel plated
MFER (M3 x 5) 8 &% —urLAvE | EflE/nA—+
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
BATER (/N1 EM4 x 8) 4 &% ZlE/AA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

RIFE / Product Number

AUX - - A -
H+tik Wik D~Fik TILER  EX(P/H RN
H dimension W dimension D dimension  Aluminium Feet  Sgrew (P or H) Color Type

B RE R4L# / Original trapezoid head screw specification

® (=

E’ 752X / Phillips 75f / Hexagon-socket
4/ Title
&4#% / Color Type TAKACHI] #XetshF BRI FLEas R A— LAy s R O]
£25 / Code a—7+—270v% / Corner block {I#R / Frame $378— / Top cover | /75— / Bottom cover | ZJLZRE / Aluminium feet TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
S Ss < JLsN— / Silver < JLsN— / Silver < )Ls\— / Silver < JLsN— / Silver < JLsN— / Silver &8/ Approved 12/ Checked &I/ Created FI% /Product number RIE/Scale
S B 7594 / Black < )L1S— / Silver < )Lsx— / Silver < )L13— / Silver < )L73— / Silver
B X 7397 / Black 7579 / Black 2 )LI8— / Silver 2 )LIS— / Silver 2 )LIA— / Silver iR x GIEN AUX149-36-16A00-L101 R—S /Page
B B 75v% / Black 75v% / Black 5% / Black 75v% / Black 75v% / Black -
{ER B /Date 2025/06/11 1/ 6
AREDOEFEIIRISHIDTFEMRITEIZFBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




152

B-B(1:5)

127

D view

B view

E view

C view

360+0.5

F view

]
o
H
o
©
A view C-C(1:5)
C C o [0 o) o
0
(o)) —
)
=
313
A-A(1:5)
o~
<
) f%/Title
TAKACHI] #REHANTFERTE FILEavkA— LRy SR O[]
352 TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
B/ Approved X /Checked #1[X]/Created FIFE /Product number RE/Scale
1:5
iR e A AUX149-36-16A1-[ sy
{ERX B /Date 2025/06/11 2 /6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A ¥R / A Frame

148

14

ZME / Front side

B {l#k / B Frame

M / Front side

310

2-M3FAHIR
2-M3 Countersunk

¥ RXEEE4HR / Same on the other side.

141.7

225

3.3

33

ZZ M / Back side

ZZm / Back side

4/ Title
TAKACHI| BXESH4hFERIE {84 (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:3
iR £ FiE:N R—/Page
H149 — W360 {ERX B /Date 2024/05/15 3/ 6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C {l#® / C Frame

ZME / Front side

D {8l#% / D Frame

M / Front side

148

14

110

2-M3FAHIR
2-M3 Countersunk

¥ RXEEEHR / Same on the other side.

E==j

141.7

22.5

3.3

3.3

ZZ M / Back side

ZE M / Back side

4/ Title
TAKACHI| HX&ahFEMTE IR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:3
iR £ FiE:N R—/Page
H149 - D160 {ERX B /Date 2024/05/15 4 /6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




349.4

4-R14.7 330 4-¢45 2
3 s N

_H

™

E

-l 8 {58 — M

< Surface protective film side

H

r

\& & i N &
A%/ Max dim. 313+ 0.5
M@ / Front side M@ / Back side
fna/Title A —
= O == N
TAKACHI| BASHIAFEHRIE HN— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
= = = RE/Scale
K 8/ Approved 1] /Checked #1[X]/Created R /Product number
1:3.5
iR £ fiE) A ~R—/Page
W360 - D160 {ER B /Date 2024/05/15 5/ 6

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

149.4
130
101.4

M / Front side

349.4

330

301.4

o

Bxh~tTi% / Max dim. 313+ 05

X% / Max dim. 113 + 0.3

4-¢45

2
/o o)
RES—ME
Surface protective film side
N o/
Z 1 / Back side
fna/Title A —
. A .
TAKACHI| BASHIAFEHRIE THhi— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
B/ Approved X /Checked #IX]/Created R /Product number RE/Scale
1:3.5
iR £ fiE) A ~R—/Page
W360 - D160 {ER B /Date 2024/05/15 6 / 6

AREDEFIEIIHRXESHADTFER T EICRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




